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[7-Q1] Hermitian operators
000 A,BO,0000000 ¢(x),4(z) 000, 0

(VIAl9) = (2B|v) (= (BY|¢)) (1)

000000,B0 A0 Hemite 00000000, B=A"000.
A=A"000,A0 Hermite 000000000. A=-A'000, A4
0O 0 Hermite JO0OO0OOO0O0O.

1.000 ADO(00D0000)eeCOD0O, (ad)f=aAt000
goooo.

2.A0 Hermite 100,000 [000]000, aA O Hermite [0
Hermite] 0000 O0O0O00OO0OO.

3.A,B0O Hermite 000000, {A B} := AB+ BA O Hermite O
O0. [A,B] =AB-BADOO Hermite 000000000DOO.
000000 A, BODOOO (AB)!=B'AT000000000O0
oog.

4.000 x,p:—ih(d/dx),H:%[l hermitian 00 0000 0O0O.

Hint. 000000000000000004¢(2)0,000000 Jz| —» o

0 ¢(z)—»0000000.

50000000000 (AN = A, (AB)' = B'AT0OO.
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[7-Q2] Hermite 0000000,0000

1. Hermite 000 ADOOODODOO0O0O0OODOOOO0.

Hint. 100 ADDOOO |¢)0000: A|¢) =al¢). D00 a = (g|A4|¢)

0 ¢«t000000000000.

2.0 Hermite 1000 000000000000000.

3. Hermite 000 A0, 00000000000000000000
oooooooo.

Hint. 2000000 ¢1,¢, 0000 Algy) = ay |¢1), A|ds) = az|¢s) , ar #
a. 0000 (¢1|Al¢p) 00000000, AD (¢|0000000
000, |¢)000000000.

4. Herrmite 000000000 Hermite 0000000000000

[7-Q3] 0OOO0DO0OO

0000000 ¢(0)=«L) 000000 10000 0<z<LO
00000000000000. 000000000000

2nwi

T " (ne) (2)

Un(z) = L7%
oooo.

1.00000 Hamiltonian 00000 (,,|p*/2ml,) 0000,

2. 00000000000 (Yulplt,) 000D,

3.0000000000 @ulrj.) 0000,

40000000000¢(2) = %t1(2) + Za(z) D000, {v,}
oobooogon,e0DO0OODODODOOOODDOO.

5.00 ($alé), 000 (glp')e), (¢lzpléy D, 0000000000,



